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m 4 3 4 3
p=—-m=pV->-m=6X-nr>=6X=-x3x5°=3000g =3kg
V 3 3 .
125 mile ) km mile y 1.6km y 60min 200
. =? — > 12. =
6min h 6min 1mile 1h v
\ h.
P=\AX\-"Pa
A
Py =Pg > Py . = pghs + Py .
Pc =Pp = Py .. =pgh, + Py
90
1.8 x 105 = 1000 x 10 X ﬁ_i_ PVO}A - Prw&, = 171000Pa
110
171000 = 1000 x 10 X ==+ Py = Py = 16000Pa
P = pgh + P, = 1000 x 10 x 10 + 100000 = 200000Pa (' |
F =PA=200000x%x1x%x10"%= 20N (<
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1 1
We + W, = Em(vz2 —V2)=Fdcosf — fid = Em((vz2 -V3) =

1 1
4Ox8x§—11x8=§x8(V22—02)—>V2:\/18

1 1
Wing + Wyy = Em(vzz —vf) > mg(hy — hy) + Wy, = Em(vz2 —v{) - 1x1000 —3) + Wy,

1
== x1(0 — 10%) - Wy, = —20/

R

2
Ra = P2 « 100 80 _ Pout P 1600 mgh _mx 10 x8 1200k
= —_ — = e d = = = e d =
T o 100 ~ 2000 "~ out t 60 mn g 'y
9 9
F=§6+32—>50=§6+32—>6=106 -
Q = mLy + mcA6 = 20 x 336 + 20 x 4.2 X 10 = 7560/

ALJS = ALAL + ALcu d 0.4 = (LlaAQ)AL + (LlaAg)cu d 0.4’ = LlAQ(OlAL + aCu) \?

- 0.4 = 5046 x 1075(2.3 + 1.7) > 46 = 200
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